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BEREENL « BSRHERNBIRAT(EPH) HREREMA + 107/12/25 1RERS : FRERWD
HIREGD : 2 BEREIE(bs) :
we | memn | SETE ] EE TIFRARCBRR
RRK | IURK | FORK | IDRK

1| BSBHEERR- BF 2 2

2 | BSRHEERR- BF 15 2

3 | BSRHEERX- ES S 1 9

4 | BSELEERR- SEX 1 6

5 | BSEHEER- HIEHHR 1 6

6 | BsEEER- X 6 0

7| BSRHEERR- flEs 0 7

8 | BSRHEERX- o 1 1

9 | BSRHEERR- E 3 5

BT B ER-

st - 1 ~RABERER TOMEE, & TSEPRE | MARRISITRE
2 ~ IRl (%) = (CHIRARKE - REARE) + HRERE X 100
3 AChEMMRIRAIERERRIEL
(1) 0-34%(=34.5)& : 68
(2)35—-44% (=44.5) LS BAMAMSIHERRNENE - WHRRETHREEHHS -
(3) 45% (>4 4.5) EE : FIRZUKE - UEREHFHREEMNIGE - iSRRXEESNEEGER

B
{LEARER - WKEREEERANREERARE
4~ RERRAER : BERE (-)  BIERME (+) ; BRAE 1 E+3RAKR50% - 2@+5RAK100%
5 - FIRRIEERHRIEF B - BRBRKR—EREIRE - MNFESHK
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BEREAI : BENBRATYEPH) REREM : 107/12/26 1BERS : FRIRWD
HIREG) : 2 5EERS M (abs) :
we | memn | SETE R R TIFRARCBRR
FORUK | DMURK | SERK | DOURK
1| BSRHEERR- G 6 0
2 | HSRHEERX- E 3 6
3 | HsRHEERX- =EHHR 13 5
4 | BSBHEERR- NfEsE 9 4
5 | BSRHERR- HIBHHR 5 6
6 | BSEHEERR- | BHEX 3 4
7| ESBHEERR- X 10 4
8 | BSRHEERR- BREE 3 4
9 | BSBHERR- NS 4 3
10 | BESEHEEER- BREs 5 9
11| ESEHEER- oI 10 6
12 | BSRHEER- X 8 10
13 | BSEHEEER- i 4 9
14 | BSEHEEER- £2C 6 4
15 | BSEHEEER- k1] 6 7
BT BB AK-
REE 1 RADEREA TEMRE, R TEETRE, MABNSRE

BT

2 ~ IR (%) = (HRHERGE - SEERE) + BWIRERXE X 100
3 v AChEMRIRAERERRIEL

(1)0—-34%(=34.5)3&:
E 2)35—-44% (=44.5) DEFE  BRHMEERRRNENS - WHRERETREBNHE -

18 -

3) 45% (>44.5) DLEE : FUERZAHER - DERFDHEMBEMINGE - SROEBEERNRERER
{LBERE - WKRREEEREBREEIRERS -

4~ REBISAER : BERE (-)

s BIERAE (+)

5  FRRIEERHRIRFEIEL - BRBRKR—ERSIRE  LNFESEK -

s IBRAT 1 @E+ERKRE 0% 2@+3FRKX100%
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=P SE T R ES

BRI : BRENERAT@E D) IR © 107/12/27 {RERE : BRIALD
HIREGD) : 2 BEBIELbs)
o AChERTRIE (%)
we | memn | SETE B B TIFRARCBRR
RRK | IURK | FORK | IDRK
1| mmmne | 0E 2 8
2 | pmEn- | oF 2 1
3 | mmER | Ko 1 10
4 | pmEwR- | TIC 8 12
5 | pEER- | =X 1 7
6 | BmER | ES 8 6
T | pmER | BR 9 7
8 | BREDR | AED 9 8
o | mmEn | BMEIR | 5 3
10 | BEER- | ORED 3 4
1| mEmEx |0 0= 3 7
12 | BEER | RER 2 1
WrEE BB
WE 1 RADEREA TOMER R T EETRE , fARNSEE
2~ IRIR (96) = (HIRARE - KeARE) + HIRERNE x 100
3 » AChEMfIRAERERRIEL
(1) 0-34%(=34.5)&:618°
(2)35—-44% (=44.5) DEE BARESEIERBEINE - WHERETREEHNE -
. (8) 45% (>4 4.5) MESE : BIERZUHYE - UWERHHREEMINGR - SRGEHESNREIGR
Sl

{LBERE - WIKEREEEREBREEIRERS -

4~ REEISAER : BERE (-)

s BIERAE (+)

5  FRRIEERHRIRFEIEL - BRBRKR—ERFIRE  LRNFESEK -

s IBRAT 1 @E+ERKRS5 0% 2@+3FRKX100%




